N & o & AF & H A A
20148 & =04k LBHSIH 2E1S
SN SIS
M HEAMHIA
el Fol=XEE (S &2)
SA - BB B () - MM - BES Ol &t o San HmEET
2413 192,398 156,320 36,078
HEMHIA 59,730 44,510 15,220
Fo=EXHE 43,310 44,510 A 1,200
ScBEESE 43,310 43,310 0
301 LA Z 43,310 43,310 0
058 -0 -tHESEHS 43,310 43,310 0
mE&s=g 39,360
oJle=¢ 200,000& x12H x 123 28,800
oOa0= 200,000& x12H »23| 4,800
OISl E=SEeR =, 20,000 x12H »23| x12& 5,760
CIRELPSE=y 50,000& »79H 3,950
S RED Pl 16,420 0 16,420
EZ FH| 16,420 0 16,420
101 @124l 7,419 0 7,419
04 JI2ZtHZ22HEE =+ 7,419 0 7,419
WAL A 7,419
(ORIl 42,0802 2 *10 *6 2 5,050
ORssgsY 42,080 2H «2L *63] 1,010
OEXNRERH=EY 42,0803 x2H 6L 505
o4 R 282 6,564,480& x13% 854
201 Let249] 2,500 0 2,500
01 At 22/l 2,500 0 2,500
CIR N = 2,500
OMdH ¥ sHML =& ZH Xt 2,500
O=23J] ¥ g2 500,000& »5CH 2,500
206 M= Hl 6,501 0 6,501
01 =8l 6,501 0 6,501
mSHE AAALASI| FFUH 2,851
o= 1,905& %304 *53 286
O 1,710& %3004 =53 2,565
mMEESA & BA Z2E IJtRII 3,650
O3, &l ,HZ & 35,0002 *38*15E 23] 3,150
OAZ23J/+ & HISHI 10,000& x5& 104 500
H.SAE Z 56,000 53,282 2,718
AR EFU=SJAAY 30,000 43,777 AN13,777
A2 FOIMEEHOIALY 30,000 43,777 AN13,777
401 A& HIZ 2018 30,000 30,000 0
01 A& HI 30,000 0 30,000




2N SEIS
M M s AHE B
Sl ARDFUEAAY CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
WS F0IMEHH Ol ALY 30,000
OLZHTALE S 22 E=3M
25,000,000& 25,000
OT2H BAXH UL BY FHAY
5,000,000 5,000
& Atzte] 26,000 9,505 16,495
EMNRXE S 26,000 9,505 16,495
401 A& HIZ 201 8] 26,000 0 26,000
01 A& HI 26,000 0 26,000
WSS FUXIME S H.24
26,000, 000& 26,000
HY2IZH(SEIS) 76,668 58,528 18,140
JlE &3l 76,668 58,528 18,140
JlE&l 76,668 58,528 18,140
201 ¢er24] 40,908 22,808 18,100
01 At 22l 15,528 12,808 2,720
mBt~=ZH] 7,608
OJle MRESHI 3,000 «8H x 12 288
O2NM2E =24l 50,000 «8H 122 4,800
O=AIl, &&D101 £22F  210,000& 128 2,520
m2I=g 1,200
OMEIZLEXN =4 5,000 20«12 1,200
m = &l 7,0003 «8H 10 «12& 6,720
02 =224l 25,380 10,000 15,380
mE32= 2 HA 15,420
OsEs £52 800,000& »12& 9,600
(OFSWIRTE=; 350,000 128 4,200
O -tz 35,0002 128 420
OJIEt 2323 %L HAl 100,000& =128 1,200
w Al & ZHl = X bl 6,360
OEMAEES HX2a 400,000 x12& 4,800
OfEHEH S 130,000 128 1,560
(m] XH &4 EHH](10H) 3,600
OXgE=FMUH 200,000& «101~x12& 2,400
oxgdEURXNH ¥ A22FH|
100,000& = 1CH »12& 1,200
202 4l 24,000 24,000 0
01 S LHOIYI 24,000 24,000 0
m2AHE=ZE 24,000
o Es YRFA 250,000 x8H =123 24,000
203 YR =2l 9,960 9,920 40
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